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Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

Fill in the blanks. (all) (1% 12
YR U8 @R | (20)

(a) Law of demand is based upon demand schedule.
GIRT 9@ 64 SRRl 991 QATER AYERTS |

(b) The value of unitary elasticity of demand is
demand schedule.

@@ 4ogiae o@QIa IRy 6Q6Q ?

(c) The shape of perfect elasticity supply to

agd Jogiom edIsga 29 |

(d) Giffen goods is an exception to

J6TR QY FIRIQ ERE! 2T ?

P.T.O.



(e)

(f)

(9)

(i)

(k)

[2]

Indifference curve is to the origin.
QIcreand a8 f @ 96 266 |
If price changes, of the price line changes.

95 906e 9feae F66, 99 6asIca & JAeRe AT ?
SAC is shaped.

SAC 609 2Igda ?

In a perfectly competitive Market, firm is the price

e 94 gosKIfOIgNS FRIR6R YEsIRg QR |

In the long run, under perfect competition, the firms will get
profit only.

99 9ocaIfoIRe 9RIRea QRN 9BTIRgEe cad aIa
ARG ?

Marginal cost is defined as

AIFI3 AN FRER D¢ QE. ?

Law of demand establishes
price and quantity demanded.

relation'ship between

PRA 98 99 e 9@Eala 9BFlE cirica WS

4@ @6 |
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(3]

(I) Mother nurses her baby. Is it labour 7
A’ QIR 2R NRPURD DEG) | A% 471 2 @ 7

GROUP - B

Answer any eight of the following questions within two to three

sentences each.
66@161d [ & 940 200 9604R5 96 @

P ~
COIC! OIOUC O CIOI0 OO0 |
DERIG @HED J'ul'a’ ool |

(a) What do you mean by demand ?

QPG CI6E @617
(b) Define shifts in Supply Curve.
6LIGIEl 60GIR FIRIBRE A6 @E DF 7

(c) Define cross elasticity of demand.
2d §6gioe 0@al dal 24|

(d) Define MRS,
MRS, @26m @¢l 98 ?

(e) Define Giffen goods.
Jeore 994 @dal 2

(f) Define fixed cost.

do cfeue edal aal

2.0



(g) Define Average Cost.
AR TN Q&I ?
(h) Mention two important features of perfect competition.

94 gosIBoIgRe 9niae UG 694G Q6RH @9 |
(i) Whatdo you mean by production ?

AR QLR R Qg 7
(i) Define MRP,

MRP Q44| 99|

GROUP -C

3. Answer any eight of the following questions within 75 words each.
§96@16d § gga aaa eOIaq. 988 40 RIER gRIe 9q|

[3x8
(@) Define Consumer’s surplus.

RUERIBIR QAR 945! Q|
(b) Define price elasticity of supply.
64Iolel @R ool edal aq |
(c) Define income elasticity of demand.

2ige goY0R okal adal aq |
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(d) Define income effect.
A gAIS 4G oQ |

(e) Define price lina.
QR 60 SR 0 |

(f) Define producer's surplus
QU R0 ER 2a |

(g) Define variable cost

— - —
TR0 OoNE QER 09|

(h) Define relationship between AC and MC.
AC 9e* MC fRIEQ QNS 9€0! Q0 |

(i) Define shifts in labour supply curve.
40 €TINE 60HR FINISRE D€ 9Q |

(i) Whatis envelope curve ?

NQEQRY @260 9262 24 9K 7

GROUP -D

Answer any four questions within 500 words each.
696916RQ ¥ gga @89 g564ee 'oo 90 criga 57 |

State and explain the law of demand. [7

2l g edel oal




[6]

5. What is price elasticity of demand ? Analyse the determinants of
price elasticity of demand. [7
aoe Jogoe oRGl @87 9aa dogiae cRale Adiae ode
@ |

6. Explain the properties of Indifference Curve. (7

RETERRY RREANIR UAGEe dal @Ql |

7. Describe the consumer’s equilibrium through indifference curve

technique. [7
RITE0RY QREAIQIN QUENDIR AR VRl Ga |

8. Explain the short run and long run equilibrium of firm under per-

fect competition. [7

g4 gheaIfiolne 9Resa goTIna YERIn 6 GIHRING AFRE
del @

9. LAC is U-shaped. Explain. [7
MG g IR 26 | QU @a |

10. Marginal revenue productivity of labour may or may not be equal
to value of marginal product of labour. Explain. [7

Jela AR ARSI AR AIFIS gAY AsEr AR 26 & FIR adal

@ |
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[7]

. Write notes on within 250 words each. [314 % 2
QERUIRS] 9808 89 FlrIsq 2°]Y S0 69! |

(a) Land
Qe
(b) Capital

~
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